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20000000 m-file

’m-ﬁle s213.m‘

%2.1.30 DOO0DO0OOODOOwWODOOOoOOooO
clear;
format short e

#0 00000 omega_n [rad/s]
omega_n=1;

»Mooobooo
zeta_o=1.2;

»woooooooo

zeta_cr=1;

»MOo00O00b0oDOOoo
zeta_u=0.1;

»oooo

yARREEnEN
t=0:0.1:30;
»oooo
x0=0.2;v0=0.5;

yARRNRE|
lambdal=( -zeta_o+sqrt(zeta_o"2-1) )*omega_n;
lambda2=( -zeta_o-sqrt(zeta_o"2-1) )*omega_n;

xoP=1/(lambdal-lambda2) * (vO-lambda2+*x0) *exp (lambdalxt) ;
xoN=-1/(lambdal-lambda2)* (vO-lambdal*x0) *exp(lambda2+t) ;

x_o=x0P+xo0N;

woooooga.ro
clf,plot(t,x_o,t,xoP,t,xoN),grid,xlabel('t'),ylabel('x'),title('0Overdamping')

»oo0oo

figure

xL=x0+(vO+omega_n*x0) *t;

x_cr=xL.*exp(-omega_n*t) ;

»ooooooz2.80
plot(t,x_cr,t,xL),grid,xlabel('t'),ylabel('x'),title('Critical damping')

»Oooo

figure

omega_d=sqrt(l-zeta_u"2)*omega_n;
x_u=exp(-zeta_u*omega_n*t) .*( xO*cos(omega_d*t) ...
+(v0 + zeta_u*omega_n+*x0)/omega_d*sin(omega_d*t) );

yARREEE

envP=exp (-zeta_uxomega_n*t)*sqrt (x0~2+(vO+zeta_u*omega_n*x0) “2/omega_d"2) ;
envN=-envP;

yoOooooooooo2.90
clf,plot(t,x_u,t,envP,t,envN),grid,xlabel('t'),ylabel('x'),title('Underdamping')



’ m-file ex26.m

»O002.6

clear

format short e
»Oooooooao
m=100%0 0 [kg]
k=4800%0 000 [N/m]
c=100%000000

»oooo
x0=0.1;v0=0.2;

»000000 [Ns/m]
cc=2*sqrt (mxk)

»000

zeta=c/cc

»000000000 [rad/s]
omegan=sqrt (k/m)
#»00000000 [rad/s]
omegad=sqrt (1-zeta"2) *omegan

%00A_0 [m]
A=sqrt (x0"2+(vO+zeta*omegan*x0) "2/ ((1-zeta~2) *omegan~2))

%0 0 0phi [rad]
phi=atan(sqrt(1l-zeta~2)*omegan*x0/(vO+zeta*xomegan*x0))

»000o0005 [slOOo0.05[s]1OO0O
t0=0;tf=5;dt=0.05
t=t0:dt:tf;

#»0000x(t)
x=A*exp(-zeta*omegan*t) . *sin(omegad*t+phi) ;

fx()000002.100
clf,plot(t,x),xlabel('t [s]'),ylabel('x [m]'),grid

|m-file s214.m

%2.1.40 000000000000 000O0DOO0O00O0DODOOd=x)=x0, v(0)=00
clear
format short e

»oooDoo

m=1%00 [kel
k=1%0000 [N/m]
mu=0.005%0 000
g=9.8;%00000 [m/s"2]

#»000000 [rad/s]
omega_n=sqrt (k/m)

»nwoooooo v

F=mu*m*g ;

%s=F/k
s=F/k;



%0 00 0=x00vOo=xdot(0)O OO O OO
x0=1;

%00
x(1)=x0;
»ooooooooooooooooo
t=0:0.01:1000;
count=1;
»000s0000000000
for i=1:length(t)

index=omega_nx*t(1);%0 000000000000 0O0O0O0O
»0000x
x(1)=(x0-(2*count-1)*s)*cos (omega_n*t (i))+(-1) " (count-1) *s;
»00v

v (1)=-(x0-(2*count-1) *s) *omega_n*sin(omega_n*t (i));

#000000000count0 0000
if omega_nxt(i)>count*pi
count=count+1;

end

»ooog
sigv(i)=sign(v(i));

»oOODOoOoo0OsO0O00ODOo0O00ooOo00o0ooooonoooooog
if i>1
if abs(x(i))<=s & sigv(i-1)*sigv(i)==-1
it=i;
break;
end
else
end
end

»OO0o0000o0O2.130
clf,plot(t(1:it),x),xlabel('t'),ylabel('x"'),grid
%+-s0 0

line([0 t(it)],s*[1 11);

line([0 t(it)],-sx[1 11);

|m-file s221.m

%2.2.100000000000O0O00O00O00O0ODO
»O000000Xx/Xstd0 00O

clear

format short e

%0 0 0O O lambda=omega/omega_n
lambda=[0:0.01:3];

M=1./(1-lambda."2);

yOOoooooooooo2.1ed
clf ,plot(lambda,M) ,xlabel('\lambda'),ylabel('M'),grid



|m-file s222.m

%2.2.200000000000000O0000O
clear
format short e

%0 0 0O O lambda=omega/omega_n
lambda=[0:0.01:3];
zeta=[0 0.1 0.2 0.6 1];

for i=1:length(zeta)

M(i,:)=1./sqrt((1-lambda."2) .72 + (2*zeta(i)*lambda)."2);
phi(i,:)=atan( 2*zeta(i)*lambda./(1-lambda.”~2) )*180/pi;
end

»oooooooooooooooooo
[mp,npl=size(phi) ;
for i=1:length(zeta)
for j=1:np
if phi(i,j)<0
phi (i,j)=phi(i,j)+180;
end
end
end

ind=find (lambda==1) ;
phi(1,ind:np)=180;

»OOoDO00OO0DO0DO0DOOooDoOooOg2.180
clf,subplot(121) ,plot(lambda,M) ,xlabel('\lambda') ,ylabel('M'),grid
subplot(122) ,plot(lambda,phi) ,xlabel('\lambda'),ylabel('\phi'),grid

’ m-file ex211.m

O002.11 0O000000OO0O00O0DOOOO00
»000000 M_v=A omega/(X_st omega)
»0000000 M_alpha=A omega~2/(X_st omega_n"2)
clear

format short e

%0 0 0 0 lambda=omega/omega_n
lambda=[0:0.01:2];
zeta=[0 0.1 0.2 0.6 1];

for i=1:length(zeta)

»O000000M_v

Mv(i,:)=lambda./sqrt((1-lambda."2)."2 + (2xzeta(i)*lambda)."2);
#0000000M_alpha

M_alpha(i,:)=lambda."2./sqrt((1-lambda."2) .72 + (2*zeta(i)*lambda)."2);
end

%M_vO O 0OM_alphal 000 02.190
clf,subplot(121) ,plot(lambda,Mv) ,xlabel('\lambda'),ylabel ('M_v'),grid
subplot(122) ,plot(lambda,M_alpha),xlabel('\lambda'),ylabel('M_\alpha'),grid



|m-file s223.m

%2.2.30 00000000000
clear
format short e

%0 0 0O O lambda=omega/omega_n
lambda=[0:0.01:3];
zeta=[0 0.1 0.2 0.6 1];

for i=1:length(zeta)

M(i,:)=sqrt(1+(2*zeta(i)*lambda) . 2)./sqrt((1-lambda."2) .72 + (2*zeta(i)*lambda)."2);
phi(i,:)=atan( 2*zeta(i)*lambda."3./(1+(4*zeta(i) "2 -1)*lambda.~2) )*180/pi;

end

»oooooooooooooooooo
[mp,npl=size(phi) ;
for i=1:length(zeta)
for j=1:np
if phi(i,j)<0
phi (i,j)=phi(i,j)+180;
end
end
end

ind=find (lambda==1) ;
phi(1,ind:np)=180;

»o000oooo0o0ooooooooa.210
clf,subplot(121) ,plot(lambda,M) ,xlabel('\lambda') ,ylabel('M'),grid
subplot (122) ,plot(lambda,phi) ,xlabel('\lambda'),ylabel('\phi [“\circ]'),grid

m-file s231.m

%2.3.10 DOOOODODOOOOOOOOd
#»00000x(0)=0, xdot(0)=0

clear

format short e

»0 00000 omega_n
m=1;k=1;omega_n=sqrt (k/m) ;

%00

t=0:0.01:7*omega_n*pi;

zeta=[0 0.05 0.2];

for i=1:length(zeta)

omega_d=sqrt (1-zeta(i) "2)*omega_n;

»O00O00000I®
I(i,:)=1/kx(1l-exp(-zeta(i)*omega_n*t).*( cos(omega_d*t)...
+ zeta(i)/sqrt(1-zeta(i) "2)*sin(omega_d*t) ));
end

0000000000 0002.260
clf,plot(t,I),xlabel('\omega_n t'),ylabel('I(t)'),grid



’ m-file ex214.m

¥O002.14 D0O0000O0OO000OOOO0O
%»00000x(0)=0, xdot(0)=0

clear

format short e

»oooooo

n=100 %00 [kgl

k=2.5e3 40000 [N/m]

F=1000 %00 0000OF [N]

»0 00000 omega_n
omega_n=sqrt (k/m) ;

%00

t=0:0.01:3;

%0 0 0 zeta

zeta=[0.03 0.05 0.1 0.2 0.3];

for i=1:length(zeta)

phi(i)=atan(sqrt(1-zeta(i)~2)/zeta(i));

omega_d=sqrt(l-zeta(i) "2)*omega_n;

»000000=x)

x(1,:)=F/k*(1-exp(-zeta(i)*omega_nx*t)/sqrt(1-zeta(i)"2) .*sin(omega_d*t+phi(i)));
end

»OODODOO0OOzetaDOOOx(t)OOOODO2.280
clf,plot(t,x),xlabel('t [s]'),ylabel('x [m]'),grid



30000000 m-file

|m-file s331.m|

%»3.1.10 OD0O0O0OO02000000000
»nwoooooooooo

clear;

format short e
yOooooooo
ml=1,m2=0.25%00 [kgl
k1=100,k2=25%,0 000 [N/m]

Fo=1 40000000 I[N]

omega_11=sqrt(kil/ml); omega_12=sqrt(k2/m1) ;omega_22=sqrt(k2/m2);
X_st=F0/k1;

%»00000omega_nl, omega_n2
o_s=omega_11"2+omega_22"2+omega_12"2;

omega_nl=sqrt(1/2*( o_s-sqrt(o_s~2-4xomega_11"2%omega_22"2)));
omega_n2=sqrt(1/2*( o_s+sqrt(o_s"2-4*omega_11"2*omega_22"2)));

»MoobOobobOooOooooboooooboo
%omega_rl=omega_nl/omega_22;
%omega_r2=omega_n2/omega_22;

fac_1=0.999;

fac_h=1.001;

fac_omega=3;

%0<=omega<fac_l*omega_nl0 OO0 OO0OOO
omega_1=[0:0.005:fac_l*omega_ni];
%fac_hxomega_nl<omega<fac_l*omega_ni0 OO0 OOODO
omega_m=[fac_h*omega_n1:0.005:fac_l*omega_n2];
%omega_n2<omega<fac_omegaxomega 2200000000
omega_h=[fac_h*omega_n2:0.005:fac_omega*omega_22] ;

»Oooooooo
nu=m2/mi;%0 00O

%0 O D(omega)

%0<=omega<fac_l*omega_ n1J OO0 OO0OOO

D1=( 1-(omega_l/omega_11).72 ).*( 1-(omega_l/omega_22).72 )...
-nu* (omega_1/omega_11) .7 2;
%fac_hxomega_nl<omega<fac_l*omega_ni0 OO0 OOODO

Dm=( 1-(omega_m/omega_11).72 ).*( 1-(omega_m/omega_22).72 )...
-nu* (omega_m/omega_11) .~ 2;
%omega_n2<omega<fac_omega*omega_ 220 0 000000

Dh=( 1-(omega_h/omega_11).72 ).*( 1-(omega_h/omega_22).72 )...
-nu* (omega_h/omega_11) .7 2;

%X1(omega), X2(omega)

%0<=omega<fac_l*omega_niO0 0000000

X11=X_st*( 1-(omega_l/omega_22).72 )./D1;
%fac_hxomega_nl<omega<fac_l*omega_ni O OOOOOODO
Xim=X_st*( 1-(omega_m/omega_22) .72 )./Dm;
%omega_n2<omega<fac_omega*omega_ 220 0 0000 OO
X1h=X_st*( 1-(omega_h/omega_22).72 )./Dh;



%0<=omega<fac_l*omega_ nl O O0OO0OOO

X21=X_st./D1;

%fac_hxomega_nl<omega<fac_l¥omega_nl0 OO0 OO0O0O0O
X2m=X_st./Dm;
%omega_n2<omega<fac_omega*omega 2200000000
X2h=X_st./Dh;

%000 0M1=X1/X_st, M2=X2/X_st
M11=X11/X_st; Mim=X1m/X_st; M1h=X1h/X_st;
M21=X21/X_st; M2m=X2m/X_st; M2h=X2h/X_st;

»000MiO000003.12(a)0
omega_rl=omega_l/omega_22;%0 000
omega_rm=omega_m/omega_22;
omega_rh=omega_h/omega_22;

clf,subplot(121),
plot(omega_rl,M1l,'b',omega_rl,abs(M1l),'r--',omega_rm,Mim,'b"',
omega_rm,abs(Mim), 'r--',omega_rh,Mih, 'b',omega_rh,abs(Mih),'r--'),
xlabel ('\omega/\omega_{22}'),ylabel('M_1'),legend('M_1','|M_1|"'),grid
%homega/omega_22=1 0000000

line([1 1],[-10 10]1)

»ooooo

line([omega_n1/omega_22 omega_nl/omega_22],[-10 10])
line([omega_n2/omega_22 omega_n2/omega_22],[-10 10])

»o00OM2000003.12(0)0

subplot(122),.

plot(omega_rl, M2l 'b',omega rl,abs(M21),'r--',omega_rm,M2m, 'b',...
omega_rm,abs(M2m) , 'r--',omega_rh,M2h, 'b',omega_rh,abs(M2h), "' r--')
xlabel('\omega/\omega_{22}'),ylabel('M_2'),legend('M_2','|M_2|"'),grid
%homega/omega_22=10000000

line([1 1], [-10 101)

»ooooo

line([omega_nl/omega_22 omega_nl/omega_22],[-100 100])
line([omega_n2/omega_22 omega_n2/omega_22],[-100 100])

|m-file s332.m

%3.3.20 DOOOO0O2000000000
»MO00DO00O0DOOoD0 M1Ioboooon
clear;

format short e

»Oooooooo

mi=1,m2=0.05%0 0 [kg]
k1=100,k2=5%0 000 [N/m]

Fo=1 0000000 [N]

omega_11=sqrt(k1/ml); omega_12=sqrt(k2/m1) ;omega_22=sqrt(k2/m2);
X_st=F0/k1;

»00o0o0o00oooooooooooooon
omega_1=0.7;omega_u=1.3;omega=[omega_1:0.005:0mega_u] *omega_22;

yooooooo
nu=m2/m1;%0 00O
»Oooo



i=sqrt(-1);

zeta=[0 0.05 0.1 0.2 0.3];
for j=1:length(zeta)

%0 O E(omega)

E=( 1-(omega/omega_11) .72 ).*( 1-(omega/omega_22).72 )...
-nu* (omega/omega_11) . "2+2*i*zeta(j) * (omega/omega_22) .*. ..
(1 - (1+nuw)*( omega/omega_11 )."2 );

#»0000ML, M2

M1(j,:)=sqrt( (1-(omega/omega_22).72).72 +...

( 2*zeta(j)*(omega/omega_22) ).~2 )./abs(E);
M2(j,:)=sqrt( 1 + ( 2*zeta(j)*(omega/omega_22) )."2 )./abs(E);
end

%zeta=infinityd 00O
omega_inf=sqrt(k1/(m1+m2));
Miinf=1./(1-(omega/omega_inf) . 2);

»OO000OMO0O00D3.140
omega_r=omega/omega_22;%0 000
clf,plot(omega_r,abs(M1) ,omega_r,abs(Mlinf)),...
xlabel ('\omega/\omega_{22}'),ylabel('|M_1|"'),grid



40000000 m-file

’Inrﬁle sol45.m‘

»00004.5
MBOOO0OOmiO0OO0OO000O0D0ODOOO00OO
clear

format short e

»ooooooo

m1=10000,m2=8000,m3=10000 %O O [kgl
k1=2e6,k2=2e6;k3=2e6;k4=2e6 %0000 [N/m]
F0=10000;0 000000

X_st=F0/k1;

omega_11=sqrt(k1/ml) ;omega_22=sqrt(k1/m2);
»O0Oa

nu=m2/mi;

»oono
omega_r=[0:0.005:2.5];
omega=omega_r*omega_11;

wml, x10000100000000 Mi=|X_1/X_stl
M1=1./abs(1-(omega/omega_11).72);

»0000000m1000000MI=|X_1/X_st]|
D=(1-(omega/omega_11).72) .*x(1-(omega/omega_22) .~ 2) -nu* (omega/omega_11) ."2;
M1_2=abs((1-(omega/omega_22).72))./abs(D);

»oooo3nooaoo
»Ooaoag
M=[m1 O O;
0 m2 O;
0 0 m3];
»O0ooo
K=[k1+k2 -k2 0;
-k2 k2+k4 -k4;
0 -k4 k3+k4];
»Ooooooooooo
soooooooa
%-lamda_i"2 M X_i= K X_i (i=1,2,3)00
%Ls* (-M)=KXO Ls=diag(lambda_1"2,lambda_2"2,lambda_3"2), X=[X1 X2 X3]0O
»oOoooad
[X,Ls]l=eig(K,-M);
lambdas=diag(Ls) ;
»O oo
[lambdas,ind]=sort (lambdas, 'descend') ;%0 000000000
X=X(:,ind")%0ODOOOODOODODOOOOOOODODOOOODOO

»10000000 omega_n(i)

»$1000000 X¢,i)0100010 000000000
»$1i000000 Ms(i)

for i=1:size(X,2)

omegan (i)=sqrt (-lambdas(i));
X(C:,i)=X(:,1i)/X(1,1i);

Ms(i)=X(:,1) "*M*X(:,1i);

end

»0o0o0o00o000ooooooooooo



omegan
X
Ms

xm10 0000 Mi=|X_1/X_stl
M1_3=abs(1./(Ms(1)*(omegan(1l) "2-omega."2))...
+1./(Ms(2)*(omegan(2) "2-omega."2)) ...
+1./(Ms(3) *(omegan(3) "2-omega."2)))*FO/X_st;

10 00000000000e6a0

clf,plot(omega_r,M1,omega_r,M1_2,omega_r,M1_3),...
xlabel('\omega/\omega_{11}'),ylabel('|M_1]"),grid
legend('1dof system','2dof system','3dof system');



50000000 m-file

’m-ﬁle s512.m‘

%5.1.20 ODOO0OOO10D00000OOO0
»Ooooooooo

clear;

format short e

yARRRAREN

1=1;

x=[0:0.01:1]%1;

Fl=sin(pi*x./1);%10000
F2=sin(2*pix*x./1);%20 000
F3=sin(3*pix*x./1);%30 000

»OO0O0O00D0O000oo01moOs.20
clf,plot(x,F1,x,F2,x,F3),grid, ...
xlabel('x'),ylabel('F(x)"')

|m-file s532.m

%5.3.20

» 0000000000000 0000000Omfile
clear;

format short e

%0 0 O lambda
lambda=0:1e-4:10;

yl=cos(lambda); %cos(lambda): O (5.121)00
y2=-1./cosh(lambda); %-1/cosh(lambda): O (5.121)00

yoooooooooooooooooooobooooboooooa
clf,plot(lambda,yl,lambda,y2),grid,xlabel('\lambda'),...
legend('cos(\lambda)','-1/cosh(\lambda) ')

»oo0o

tol=1le-4;

»lyl-y2/0 00000000000
»ol0JO00D00O0O0ODODOOOOCOCCOOOOOOOOn
»0oooooooooooooooooon
ind=find(abs(yl-y2)<tol);

O0001lambdad0 000 O0O0O0O0ODOOOODOOOO
lambda_s=lambda(ind)

bboboodbbbbdddlambda-s

lambda_s =

1.8751e+000 4.6940e+000 4.6941e+000 7.8547e+000 7.8548e+000

..0580000000000<A<1000000000 (51440000, ~
1.8751, Ay >~ 4.69400 4.6940 0 4.6941 0 0 0, A3 ~ 7.45870 7.8547 10 7.8548 0 0 I
ggooobod



’Inrﬁle ex54.m

¥O005.4: DOOO0ODOOOODODOOO

clear;

format short e

00000rhoe, OODOA, OOLOOOODODOEI
rho=1;A=0.01;L=1;EI=1;

»OOOF

F=1;

%00

dx=0.001;

x=0:dx:L;

»0000s632.m00000

1a=[1.875100000000000e+000;
.694000000000000e+000;
.854700000000000e+000;
.099550000000000e+001 ;
.413710000000000e+001;
.727870000000000e+001 ;
.042040000000000e+001
.356200000000000e+001;
.670360000000000e+001 ;
.984520000000000e+001]

NNONDN R R RN

alpha=(cosh(la)+cos(la))./(sinh(la)+sin(la))

kappa=zeros(1,length(la));

»nwoooo

for i=1:length(la)

000000 omega_i

omega_i(i)=1la(i) ~2/L"2*sqrt(EI/(rhox*A));
»O00000Y_i(x)
Y(i,:)=cos(la(i)/L*x)-cosh(la(i)/L*x)-alpha(i)*(sin(la(i)/L*x)-sinh(la(i)/L*x));
%kappa_i=Integtal O0°L Y_i"2(x) dxO0O0O0OO0O0O0O0OOODOO
kappa(i)=sum(L*dx*Y(i,:)."2);

end

kappa

#»000000 [rad/s]
df=.05;
freq=10:df:1074;

»y0OoOoLiooooL2
L1=L/2;
L2=L;

»ooooooogo

for i=1:length(la)

HY (L1
Y_L1(i)=cos(la(i)/L*L1)-cosh(la(i)/L*L1)-alpha(i)*(sin(la(i)/L*L1)-sinh(la(i)/L*L1));
%Y (L2)
Y_L2(i)=cos(la(i)/L*L2)-cosh(la(i)/L*L2)-alpha(i)*(sin(la(i)/L*L2)-sinh(la(i)/L*L2));
%G (omega)

G(i,:)=1/(rho*Axkappa(i))*1./(omega_i(i). 2*ones(1l,size(freq,2))-freq. 2)*Y_L1(i)*Y_L2(i);
%G2(1)=E1/1"3;%rho*Axkappa (i) ;

HhG(1,:)=G1(i,:)/G2(i);

end



Gomega=sum(G) ;

»00000001length(la)0000 [rad/s]
omega_i

»00000000000005.190

clf,subplot(211) ,semilogx (freq,20*1logl0(abs(Gomega/(EI*L"3)))),...
ylabel('201log_{10}| G(\omega)/(EI1~3)| [dB]'),grid 400000000000 dBO
subplot(212) ,semilogx (freq,angle (Gomega)*180/pi), . ..

xlabel('\omega [rad/s]'),ylabel('\phi [degl'),grid %000 OO degO



60000000 m-file

|m-file s62_1.m]

%6.20

»Oo0ooooo
»00000000000dx/dt=Ax
»O0Oa

clear;

format short e

%000 0Delta_t
Delta_t=0.01;
»OO0O0O00D0O0O0Oooozts
tf=15;
»oooooooooo
t=0:Delta_t:tf;

0-0.1-0.3-0.5-110.50.30.10-0.1-0.3-0.5-1;
111-1-1-1-1-1-1-1-1-11;%0000

»OO0o000d6.3(a)d
A=[1 0;
0 -21;

s62_phase

|m-file s62.2.m

%6.20

»Oo0ooooo
»00000000000dx/dt=Ax
o000

clear;

format short e

%000 0Delta_t
Delta_t=0.01;
»OO0O000D00O0000O0ztf
tf=15;
»oooooooooo
t=0:Delta_t:tf;

0-0.1-0.3-0.5-110.50.30.10-0.1-0.3-0.5-1;
111-1-1-1-1-1-1-1-1-11;%0000

»O00000006.3()0
A=[-1 0;
0 -21;

s62_phase

|m-file s62.3.m

%6 .20
»0oooooo
y0O0OOOODOOOOOdx/dt=Ax



»Oo0oo
clear;
format short e

%000 0Delta_t
Delta_t=0.01;
»OO0O0O00DoDoOOoOoooozts
tf=15;
»oooooooooo
t=0:Delta_t:tf;

xi=[1;

1130000
»OoOO0OO0OO06.3(c)0
A=[0 1;

-5 -1];

s62_phase

’m-ﬁle s62.4.m

%6.20

»ooooooo
»00000000000dx/dt=Ax
%00

clear;

format short e

%000 ODelta_t
Delta_t=0.01;
»OOo0ooDoDoOo0OoOo0o0ozts
tf=15;
»ooooooooaa
t=0:Delta_t:tf;
0;
10.11;%0000
»O0000e6.3(d)d
A=[0 1;

-1 01;

s62_phase

m-file s62 phase.m

» 000000000000 00s62_x.mO0000O

»1O00000000xO0Ooood

clf

for k=1:size(xi,2)

x(:,1)=xi(:,k);

for i=1:length(t)
%xdotd O O
ql=caldx62(x(:,i),A);
g2=caldx62(x(:,i)+Delta_t/2*ql,A);
g3=caldx62(x(:,i)+Delta_t/2%q2,A);



g4=caldx62(x(:,i)+Delta_t*q3,4);
xdot=Delta_t*(ql+2*q2+2%q3+q4)/6;
x(:,i+1)=x(:,i)+xdot;

end

plot(x(1,:),x(2,:)),hold on

end

hold off,xlabel('x'),ylabel('dx/dt'),grid;

’ m-file caldx62.m

function xpdot=caldx62(xp,A)
%s62_phase.m 0 00O 0 functiond OO0
% dx/dt = v

% dv/dt = cx +dv

yoooooooa

»ooooooood
xpdot=A*xp;

|m-file s63_1.m

%6.30
»ooooooooo
»ooooo

»oooo

clear;

format short e

omega_n=1;

yAupup\ngn|

A=[omega_n"2 Oxomega_n~2 0.5*omega_n"2 1.5xomega_n~2 2*omega_n~2];
x=-1:0.01:1;

wo O
theta=-3*pi:0.001:3*pi;

wooooAbbooooooogw
for i=1:length(A)
vp(i,:)=sqrt(2*x(A(i)+omega_n"2*cos(theta)));%»0 000
for j=1:length(vp(i,:))
if imag(vp(i,j))~=0
vp(i,j)=NaN;%0 0000000000000 00O000O0O0O0OO0O0O
end
end
vm(i,:)=-vp(i,:);%00000
end

»O0OO0O000O0de.sO
clf,plot(theta,vp(l,:),'b.-',theta,vm(1,:),'b.=", ...
theta,vp(2,:),'g.~',theta,vm(2,:),'g.~",...
theta,vp(3,:),'r.~',theta,vm(3,:),'r.-',...
theta,vp(4,:),'c.-',theta,vm(4,:),'c.-',...

theta,vp(5,:), 'm.~',theta,vm(5,:), 'm.~-"',...

[-2#%pi 0 2*pil,[0 0 O],'x"),...
title('v"2/2-\omega_n"2cos\theta=A (\omega_n=1)"')
xlabel('\theta [rad]'),ylabel('v=d \theta/dt [rad/s]'),...
line([-2#pi -2xpil, [-3 3]),line([-pi -pil,[-3 31),...
line([0 0],[-3 3]),1line([pi pil,[-3 3]),line([2*pi 2*pil,[-3 3]),...
line([-10 101, [0 01)



|m-file s63.2.m

%6.30

yOoooooooOoooooooooo
yooooooooooooooooooooooa
clear;

format short e

%000 0Delta_t
Delta_t=0.01;
»OOoo0o0ooDoOo0Oooooes
tf=15;
»Ooooooooooo
t=0:Delta_t:tf;

Moo o0Ox(HOOO0Ox(@2O0O0000d
»o000
init_list=[0.159 0.318 0.478 0.637 0.93]*pi;

for j=1:length(init_list)
x(:,1)=[init_list(j) 01'; %0000

v0000O0000O000cp
cp=[1 01;

for i=1:length(t)
»O00000=xdet0 0 O0DOOOO0DODOOOODOTOO
ql=caldxs63(x(:,1),0);%00000000000u(t)=0
g2=caldxs63(x(:,i)+Delta_t/2%ql1,0);
q3=caldxs63(x(:,i)+Delta_t/2xq2,0);
g4=caldxs63(x(:,i)+Delta_t*q3,0);
xdot=Delta_t*(ql+2%q2+2%q3+q4)/6;
x(:,i+1)=x(:,i)+xdot;
theta(j,1)=Cp*x(:,1);%Runge-Kuttal 0 0000000000000 O0ODODO
end

xd(2%j-1:2%j, :)=x;

end

»OOoOODOODOOoOOoOOoOoo0oo0o0o000o00o0ooooooOoooonoe.edd
clf,subplot(511) ,plot(t,theta(l,:)),grid,title('1=1 [m], d\theta(0)/dt=0 [rad/s]')
subplot(512) ,plot(t,theta(2,:)),grid,

subplot(513) ,plot(t,theta(3,:)),grid,ylabel('\theta [rad]')

subplot(514) ,plot(t,theta(4,:)),grid,

subplot(515) ,plot(t,theta(5,:)),grid,

xlabel('t [s]');

»OoooooooOooe.7d
figure,plot(xd(1,:),xd(2,:),xd(3,:),xd(4,:),xd(5,:),xd(6,:),...
xd(7,:),xd(8,:),xd(9,:),xd(10,:)) ,xlabel('\theta [rad]'),...
ylabel('d\theta/dt [rad/s]'),title('l=1 [m], d\theta(0)/dt=0 [rad/s]'),grid;

|m-file caldxs63.m

function xpdot=caldxs63(xp,u)
%s63_2.m0 0000 functionO OO O
»xwooooooo

1=1;



g=9.8;

»ooooooooo
xpdot=[xp(2,:) -g/l*sin(xp(1))]';

|m-file s63.3.m

%6.30
»00000000000000000
»00000000000o0oooo

clear
format short e

%000 ODelta_t
Delta_t=0.01;
»OOo0o000oo0O0O00o0o0ozes
tf=15;
»oOooooooooo
t=0:Delta_t:tf;

»UOo0000x(HOOoOOx@@OOOO0O
»aooag
x(:,D=[pi/4 01'; %0000

»O0o0oo0oooooggdcp
Cp=[1 0];

for i=1:length(t)

OO0 00xdetOOODODOOOODODOOOOTOO
ql=caldxs632(x(:,1),0);»0 0000000000 0Ou(t)=0
g2=caldxs632(x(:,i)+Delta_t/2xql,0);
g3=caldxs632(x(:,i)+Delta_t/2%q2,0);
g4=caldxs632(x(:,i)+Delta_t*q3,0);
xdot=Delta_t*(ql+2*q2+2*q3+q4)/6;
x(:,i+1)=x(:,i)+xdot;%Runge-Kuttal U0 OO0 O0OOODOOO
end

»O0Oo00Oo00OO0e.80
clf,plot(x(1,:),x(2,:)),xlabel('\theta'),...
ylabel('d\theta/dt'),title('\theta(0)=\pi/4, d\theta(0)/dt=0, 1=1 [m], c=1 [Nm~2/s]'),grid;

’ m-file caldxs632.m

function xpdot=caldxs632(xp,u)
%s63_3.m0 0000 functionO OO O
»wooooooo

1=1;

g=9.8;

»ooooo

c=1;

»ooooooooo

xpdot=[xp(2) -g/l*sin(xp(1))-c*xp(2)]"';



|m-file s641_1.m

%6.4.10
y0oooooooooooo
yooooooo

»Oooooad

%m d~2/dt"2+k1l x + k_2 x”3 =0
clear

format short e

m=1,k1=1,k2=-1

pa=[m k1 k2];

omega_n=sqrt (kl/m)

beta=k2/k1

»aoo

xd=-2:0.01:2;

rho=sqrt (-beta)
vd=omega_n/ (sqrt (2*rho))*(1-rho~2*xd."2) ;

xi=[.5 0]1'/00000000C00000C0OO0OO

xol=[-2 2.2]"0000000OOOCOCOOCOOOOOO00O00O000O
x02=[2 -2.2]"0000000000O0O0O0OCOOOOOOOCOCDOO
x03=[2 -2]'4000000000O0O0O0OOCOOOODOOOCOCOO
xo4=[-2 2] 00000O0OOOOOOOCOCOOOOOO0O000O0

%0 0 0 0Delta_t
Delta_t=0.05;
»OO00000oDOoOooooztt
t£=100;
»Oooooooooo
t=0:Delta_t:tf;

for i=1:length(t)

%xidot0 000000000 DOOO7OO
%u(t)=0

pl=caldx641_1(xi(:,i),0,pa);
p2=caldx641_1(xi(:,i)+Delta_t/2*pl,0,pa);
p3=caldx641_1(xi(:,i)+Delta_t/2*p2,0,pa);
p4=caldx641_1(xi(:,i)+Delta_t*p3,0,pa);
xidot=Delta_t* (pl+2*p2+2*p3+p4)/6;
xi(:,i+1)=xi(:,1i)+xidot;

%xoldotd O O

%u(t)=0

ql=caldx641_1(xo01(:,1i),0,pa);
g2=caldx641_1(xol(:,i)+Delta_t/2*ql,0,pa);
g3=caldx641_1(xol1(:,i)+Delta_t/2*q2,0,pa);
g4=caldx641_1(xo01(:,i)+Delta_t*q3,0,pa);
xoldot=Delta_t*(ql+2*q2+2*q3+q4)/6;
x01(:,i+1)=x01(:,i)+xoldot;

%xo2dotd O O

%u(t)=0

ri=caldx641_1(x02(:,1i),0,pa);
r2=caldx641_1(x02(:,i)+Delta_t/2*r1,0,pa);
r3=caldx641_1(x02(:,i)+Delta_t/2*r2,0,pa);



r4=caldx641_1(x02(:,i)+Delta_t*r3,0,pa);
xo2dot=Delta_t* (r1+2*r2+2xr3+rd) /6;
x02(:,i+1)=x02(:,1)+x02dot;

%x03dotd O O

%u(t)=0

sl=caldx641_1(x03(:,1),0,pa);
s2=caldx641_1(xo03(:,i)+Delta_t/2*s1,0,pa);
s3=caldx641_1(x03(:,i)+Delta_t/2*s2,0,pa);
s4=caldx641_1(x03(:,i)+Delta_t*s3,0,pa);
xo3dot=Delta_t*(s1+2*s2+2xs3+s4) /6;
x03(:,i+1)=x03(:,1)+x03dot;

%xoddotd O O

%u(t)=0

tl=caldx641_1(xo04(:,i),0,pa);
t2=caldx641_1(x04(:,i)+Delta_t/2*t1,0,pa);
t3=caldx641_1(xo04(:,i)+Delta_t/2*t2,0,pa);
t4=caldx641_1(x04(:,i)+Delta_t*t3,0,pa);
xo4dot=Delta_t* (t1+2*t2+2*t3+t4)/6;
x04(:,i+1)=x04(:,1)+xo4dot;

end

»ooooooode.1o0

clf,plot(xd,vd,xd,-vd,xi(1,:),xi(2,:),x01(1,:),x01(2,:),...

x02(1,:),x02(2,:),x03(1,:),x03(2,:),...
x04(1,:),x04(2,:)),axis([-2 2 -2 2]),...
title('m=1, k_1=1, k_2=-1'),...
xlabel('x'),ylabel('v=dx/dt'),grid

|m-file caldx641_1.m

function xdot=caldx641_1(x,u,p)

%s641_1.m, s641_2.m0 00000 functionO OO O
»oooooooooooooooo

»oooooo

m=p(1) ;k1=p(2) ;k2=p(3);

xdot=[x(2) -k1/m*x(1)-k2/m*x(1)"~3]'+[0 1/m]'*u;

|m-file ex641.2.m

%6.4.10
yooooooooooooa
yoOooooooooooooooooooon
h

clear;

format short e
m=1,k1=1,k2=-1

pa=[m k1 k2];

%0 0 0 0Delta_t
Delta_t=0.01;
»OO000000O0000O0¢tf
t£=100;
»Ooooooooooo
t=0:Delta_t:tf;



»Mo000x(WOO000x(20000
#0000
init_list=[0.2 0.4 0.6 0.8];

for j=1:length(init_list)
x(:,1)=[init_list(j) 0]'; %0000

#»00000000000c¢p
Cp=[1 0];

for i=1:length(t)

»O00000=xdet0 0 O0DOOOO0DODOOOODOTOO
gql=caldx641_1(x(:,1),0,pa);x0 000000000 Ou(t)=0
g2=caldx641_1(x(:,i)+Delta_t/2*ql,0,pa);
g3=caldx641_1(x(:,i)+Delta_t/2*q2,0,pa);
g4=caldx641_1(x(:,i)+Delta_t*q3,0,pa);
xdot=Delta_t*(ql+2%q2+2%q3+q4)/6;
x(:,i+1)=x(:,i)+xdot;
theta(j,i)=Cp*x(:,1i);%Runge-Kutta0 D 0 0000000000000 ODODO
end

xd(2%j-1:2%j, :)=x;

end

»OOo00DO0DOOo0DOO0D0DOo0oD0DOx)ODOooDooDOooOe. 110

clf,subplot(411) ,plot(t,theta(l,:)),grid,title('m=1, k_1=1, k_2=-1'),...
legend('x(0)=0.2, dx(0)/dt=0")

subplot (412) ,plot(t,theta(2,:)),grid,ylabel('x'),...

legend('x(0)=0.4, dx(0)/dt=0")

subplot(413) ,plot(t,theta(3,:)),grid,...

legend('x(0)=0.6, dx(0)/dt=0"')

subplot(414) ,plot(t,theta(4,:)),grid,...

legend('x(0)=0.8, dx(0)/dt=0'),xlabel('t [s]');

»0000006.120
figure,plot(xd(1,:),xd(2,:),xd(3,:),xd(4,:),xd(5,:),xd(6,:),...
xd(7,:),xd(8,:)),title('m=1, k_1=1, k_2=-1'),...
xlabel('x'),ylabel('dx/dt'),grid;

|m-file s642_1.m

%6.4.20
»oooooooooooo
»oooooo
»oooood

clear;
format short e

»000000beta>00 000
beta=0.3

zeta=0.03

delta=0.15

»Ooooo
Z=[0.6:1e-4:1.4];



» 1000
hsol=zeros(3,length(Z));

for i=1:length(Z)

c=[9/16*beta"2 3/2*betax(1-Z(i)."2) (1-Z(i)."2) 2+4*zeta~2*Z(i)."2,...

-delta"2];

sol(:,i)=sqrt(roots(c));

At(:,i)=sort(abs(sol(:,i)));40000000000O0O0O0OO
end

for i=1:length(Z)

»ooooooooog

if At(2,1)==At(3,1)%00002000000000000
A(:,i)=At(1,i)*ones(3,1);

elseif At(1,1)==At(2,1)%0000200000000000
A(C:,i)=At(3,i)*ones(3,1);

else
AC:,i)=At(:,1i);

end

end

»000000betack00 OO0
beta=-0.12

zeta=0.035

delta=0.1

for i=1:length(Z)

c=[9/16*beta"2 3/2*betax(1-Z(i)."2) (1-Z(i)."2) 2+4*zeta"2*Z(i)."2,...

-delta~2];

s012(:,i)=sqrt(roots(c));

At2(:,1i)=sort(abs(so0l2(:,1)));%0 0000000000 OOOO
end

for i=1:length(Z)

ooooooooa

if At2(2,i)==At2(3,1)400002000000000000
A2(:,i)=At2(1,1i)*ones(3,1);

elseif At2(1,i)==At2(2,1)%0000200000000000
A2(:,i)=At2(3,i)*ones(3,1);

else
A2(:,i)=At2(:,1i);

end

end

»Oo0oooooode.130
clf,subplot(121),plot(Z,A,'b."),grid,. ..
xlabel ('Z=\omega/\omega_n') ,ylabel(' |A(Z)|'),title('(a) \beta>0')

subplot(122) ,plot(Z,A2,'b. ') ,grid, ...
xlabel ('Z=\omega/\omega_n') ,ylabel(' |A(Z)|'),title('(b) \beta<0')

woooooooooooooooboooooboooooooooobooOooo
%figure,subplot(121) ,plot(Z,At) ,grid,...
%xlabel('Z=\omega/\omega_n') ,ylabel('|A(Z)|"'),title('\beta>0")

%subplot (122) ,plot(Z,At2) ,grid, ...
%xlabel('Z=\omega/\omega_n') ,ylabel('|A(Z)|"'),title('\beta<0"')



|m-file s642.2.m

%6.4.20

yooooooooooooa
yoooooooooooooooooooobooooo
clear;

format short e

%0 0 0 0Delta_t
Delta_t=0.1;

» 000000 0O0OoOoooztf
t£=200;
»oooooooooo
t=0:Delta_t:tf;

»OO0000xs(HOODOOxs(OO0O0O
xs(:,1)=[5 0]"';
xs2(:,1)=[4 0]"';

Loo0ooo0oooodcep
Cp=I[1 0];

for i=1:length(t)

%xsdot0 0O O0OOD0OOOOOOODO7OO

%u(t)=A cos (omega t+phi), A=2.5, omega=1, phi=0;
pl=caldx642(xs(:,1i),2.5*%cos(1*(t(i))));
p2=caldx642(xs(:,i)+Delta_t/2*pl,2.5*%cos(1*(t(i)+Delta_t/2)));
p3=caldx642(xs(:,i)+Delta_t/2%p2,2.5%cos(1x(t(i)+Delta_t/2)));
p4=caldx642(xs(:,i)+Delta_t*p3,2.5%cos(1*(t(i)+Delta_t)));
xsdot=Delta_t* (pl+2xp2+2xp3+pd) /6;

xs(:,i+1)=xs(:,i)+xsdot;

xd(:,1)=Cp*xs(:,1);%00

%xs2dotd 0 O

ql=caldx642(xs2(:,1),2.5*xcos(1*(t(i))));
g2=caldx642(xs2(:,i)+Delta_t/2*ql,2.5*cos(1*(t(i)+Delta_t/2)));
q3=caldx642(xs2(:,i)+Delta_t/2*q2,2.5*cos(1*(t(i)+Delta_t/2)));
g4=caldx642(xs2(:,i)+Delta_t*q3,2.5*%cos(1*(t(i)+Delta_t)));
xs2dot=Delta_t*(ql+2*q2+2*q3+q4)/6;

xs2(:,i+1)=xs2(:,i)+xs2dot;

xd2(:,1i)=Cp*xs2(:,1);%00

end

»OOo0dOdD0e 400 0000DOOOODODO

ts=0;

clf,subplot(121) ,plot (t(find(t==ts) :length(t)),xd(find(t==ts):length(t)),...
t(£ind (t==ts) :length(t)),xd2(find (t==ts) :length(t)), ...

t(find (t==ts) :length(t)),2.5%cos (1*(t (find(t==ts) :length(t))))), ...
xlabel('t'),ylabel('x'),grid,...

legend('x(0)=5, dx(0)/dt=0','x(0)=4, dx(0)/dt=0"','Input u(t)=2.5cos(t)")

subplot (122) ,plot (xs(1,find(t==ts) :1length(t)) ,xs(2,find(t==ts) :length(t)),...
xs2(1,find(t==ts) :length(t)) ,xs2(2,find (t==ts) :length(t))),...
xlabel('x'),ylabel('dx/dt'),grid,...

title('100<=t<=200")



»OODODOODe. 150000000000 0ODOOOO

figure

subplot(211) ,plot(t,xd) ,xlabel('t'),ylabel('x'),grid,...
title('(a) x(0)=5, dx(0)/dt=0")

subplot(212) ,plot(t,xd2) ,xlabel('t'),ylabel('x'),grid,...
title(' (b) x(0)=4, dx(0)/dt=0")

|m-file caldx642.m

function xdot=caldx642(x,u)
%s642_2.m00 0000 functionO O OO
»oooooooooooooo
»oooooo

m=2.56;

c=0.32;

k1=1;

k2=0.05;

xdot=[x(2) -c/m*x(2)-k1/m*x(1)-k2/m*x(1)~3]'+[0 1/m]'*u;

m-file s642_freq.m

%6.4.20
sooooooooooooa
»ooooooo

clear;

format short e

»O000000beta>00 000
beta=0.3

zeta=0.03

delta=0.15

»Ooooog
Z=[0.6:1e-4:1.4];

»Oo0oo
%sol=zeros(3,length(Z));

for i=1:length(Z)

c=[9/16*beta”2 3/2xbeta*x(1-Z(i)."2) (1-Z(i)."2) 2+4*zeta"2%Z(i)."2,...

-delta~2];

sol(:,i)=sqrt(roots(c));

At(:,i)=sort(abs(sol(:,i)));x000000000O0O00O00O00O0O
end

for i=1:length(Z)

»ooooooooao

if At(2,1)==At(3,1)%00002000000000000
A(C:,i)=At(1,i)*ones(3,1);

elseif At(1,i)==At(2,1)%0000200000000000
A(:,i)=At(3,1i)*ones(3,1);

else
AC:,i)=At(:,1);

end

end



»000000beta<0O OO0
beta=-0.12

zeta=0.035

delta=0.1

for i=1:length(Z)

c=[9/16*beta"2 3/2*betax(1-Z(i)."2) (1-Z(i)."2) 2+4*zeta 2*Z(i)."2,...

-delta~2];

s012(:,i)=sqrt(roots(c));

At2(:,i)=sort(abs(s0l2(:,i)));»000000000O000O0O0OO
end

for i=1:length(Z)

»ooooooooa

if At2(2,i)==At2(3,i)%0 000200 0000000000
A2(:,i)=At2(1,1i)*ones(3,1);

elseif At2(1,i)==At2(2,1)%00002000000000000
A2(:,1)=At2(3,i)*ones(3,1);

else
A2(:,i)=At2(:,1);

end

end

clf,subplot(121) ,plot(Z,A,'b.") ,grid,...
xlabel('Z=\omega/\omega_n'),ylabel('[A(Z)|'),title('\beta>0")

subplot(122) ,plot(Z,A2,'b. ") ,grid, ...
xlabel ('Z=\omega/\omega_n') ,ylabel(' |A(Z)|"'),title('\beta<0"')

x»0o0ooooooooooooooooooooooO0O0O0boboboboobo00o0o
%figure,subplot(121),plot(Z,At),grid,...
%xlabel('Z=\omega/\omega_n') ,ylabel('|A(Z)|"'),title('\beta>0"')

%subplot (122) ,plot(Z,At2),grid, ...
%xlabel('Z=\omega/\omega_n') ,ylabel('|A(Z)|"'),title('\beta<0"')

|m-file s643_1.m

%6.4.30

L o0o000oooooooono
clear;

format short e

%0 00 0Delta_t
Delta_t=0.01;
»OOooDOo0DOooDOooDOooOdzes
t£=600;
»ooooobooooag
t=0:Delta_t:tf;

»O00000xs()ODODOOxs(2)O0O0O00O
xs(:,1)=[0 0]';

»oooOooooooocep
Cp=[1 0];

for i=1:length(t)



%xsdotOD OO DODODODOOOOOOOvYOO
%u(t)=A cos omega t, A=7.5, omega=1;
pl=caldx643(xs(:,1i),7.5*cos(1*(t(i))));

p2=caldx643(xs(:,i)+Delta_t/2*pl,7.5*cos(1*(t(i)+Delta_t/2)));
p3=caldx643(xs(:,i)+Delta_t/2%p2,7.5*cos(1*(t(i)+Delta_t/2)));
p4=caldx643(xs(:,i)+Delta_t*p3,7.5*%cos(1*(t(i)+Delta_t)));

xsdot=Delta_t* (pl+2*p2+2xp3+p4)/6;
xs(:,i+1)=xs(:,i)+xsdot;
xd(:,1)=Cp*xs(:,1);%00

end

%100 [s]0000000O0O0DODODODOE.160

clf,subplot(611),plot(t(1:100/Delta_t),xd(1:100/Delta_t)),grid,...

title('k=0.02, A=7.5, x(0)=dx(0)/dt=0');

subplot(612) ,plot (t(100/Delta_t+1:200/Delta_t) ,xd(100/Delta_t+1:200/Delta_t)),grid,;

subplot (613),plot(t(200/Delta_t+1:300/Delta_t),xd(200/Delta_t+1:300/Delta_t)),grid,...

ylabel('x');

subplot (614) ,plot (t(300/Delta_t+1:400/Delta_t) ,xd(300/Delta_t+1:400/Delta_t)),grid;
subplot (615),plot (t(400/Delta_t+1:500/Delta_t),xd(400/Delta_t+1:500/Delta_t)),grid;

subplot (616) ,plot (t(500/Delta_t+1:600/Delta_t),xd(500/Delta_t+1:600/Delta_t)),grid,...

xlabel('t');

%400-500 [s]O0O0O0O0O000O0O6.170

figure,plot(xs(1,400/Delta_t+1:500/Delta_t) ,xs(2,400/Delta_t+1:500/Delta_t)),grid,...

xlabel('x'),ylabel('dx/dt'),...

title('k=0.02, A=7.5, x(0)=dx(0)/dt=0, 400 <= t <= 500')

|m-file caldx643.m

function xdot=caldx643(x,u)

%s643_1.m, s643_2.m, s643_3.m0 000 0O 0 functiond OO O

wWooooooooooooo
k=0.02;
xdot=[x(2) -x(1)"3-k*x(2)]'+[0 1] '*u;

|m-file s643_2.m

%6.4.30
yooooooobooooo
yooooooooooo
clear;

format short e

%0 0 0 0Delta_t
Delta_t=0.1;

» 000000 0O0OoOoooztf
t£=100;
»oooooooooo
t=0:Delta_t:tf;

»OO0000xs(HOODOOxs(OO0O0O
xs(:,1)=[0 0]';
xr(:,1)=[0 0.1]"';

»oooooooooocp
Cp=I[1 0]1;

hu(t)=A*cos(omega*(t+phi)), A=7.5, omega=1, phi=0

A=7.5;0mega=1;phi=0;



for i=1:length(t)

Yxsdot0 0D OO OOOODOODOODO7OO
pl=caldx643(xs(:,i),A*cos(omega*(t(i)+phi)));
p2=caldx643(xs(:,i)+Delta_t/2*pl,A*cos(omega*(t(i)+Delta_t/2+phi)));
p3=caldx643(xs(:,i)+Delta_t/2*p2,A*cos (omega*(t (i)+Delta_t/2+phi)));
p4=caldx643(xs(:,i)+Delta_t*p3,A*cos(1*(t(i)+Delta_t+phi)));
xsdot=Delta_t* (pl+2*p2+2xp3+p4)/6;

xs(:,i+1)=xs(:,i)+xsdot;

xds(:,1)=Cp*xs(:,1);%00

%xrdot O 0O

ql=caldx643(xr(:,i),3*cos(1x(t(1)+0)));
q2=caldx643(xr(:,i)+Delta_t/2*ql,Axcos(omegax(t(i)+Delta_t/2+phi)));
q3=caldx643(xr(:,i)+Delta_t/2%q2,A*cos (omega* (t(i)+Delta_t/2+phi)));
q4=caldx643(xr(:,i)+Delta_t*q3,A*cos (omega*(t(i)+Delta_t+phi)));
xrdot=Delta_t*(ql+2*q2+2%q3+q4)/6;

xr(:,i+1)=xr(:,i)+xrdot;

xdr(:,1i)=Cp*xr(:,1);%00

end

»00000006.180
clf,plot(t,xds,t,xdr,'--"'),grid,xlabel('t'),ylabel('x"'),...
title('k=0.02, A=7.5, dx(0)/dt=0'),legend('x(0)=0"','x(0)=0.1")

|m-file s643.3.m

%6.4.30
»oooooooooooo
»20000

clear;

format short e

%Delta_t

Delta_t=0.01;
»OOo0oooDoOoOooooes
t£=300;
»ooooooooaoo
t=0:Delta_t:tf;

»O00000xs(OOOOxs(2O0000O
xs(:,1)=[0 0]"';

»Ooooooooooodcep
Cp=[1 0];

for i=1:length(t)

%xsdot0 00 O0O0OOOOODOOO700O

%u(t)=A*xcos(omega*(t+phi)), A=3.0, omega=1, phi=0
pl=caldx643(xs(:,i),3*cos(1*(t(i)+0)));
p2=caldx643(xs(:,i)+Delta_t/2*pl,3*cos(1*(t(i)+Delta_t/2+0)));
p3=caldx643(xs(:,i)+Delta_t/2*p2,3*cos(1*(t(i)+Delta_t/2+0)));
p4=caldx643(xs(:,i)+Delta_t*p3,3*cos(1*(t(i)+Delta_t+0)));
xsdot=Delta_t* (pl+2*p2+2*p3+p4)/6;

xs(:,i+1)=xs(:,i)+xsdot;

xds(:,1)=Cp*xs(:,1);%00

end

»oooo



»00000000¢tpi, OO00ODO tpf
tpi=100;tpf=300;
Ni=floor(tpi/Delta_t)+1;
Nf=floor (tpf/Delta_t)+1;

»OOoo0ooooooooO0e.190
clf,subplot(121) ,plot (t (Ni:Nf),xds(:,Ni:Nf)),grid,xlabel('t'),ylabel('x'),...
subplot(122) ,plot(xs(1,Ni:Nf),xs(2,Ni:Nf)),grid,xlabel('x"'),ylabel('dx/dt"')



0000000 m-file

’m-ﬁle s72 .m‘

%»7.20 100000000zetaD0 0000000 0ODODO omega_n0d
yoOoo0ooooooooooo

clear

format short e

hzetal OO OOomegan0 OO0 O00OOO0OOOOOCODO

»OO0O00o0oo10°{-2}0010"2 [rad/s]O0000O0OOODODOO2000000
omega=logspace(-2,2,200) ;

omega_n=[0.25 0.5 1 21;%000000000

zeta=0.1; %000 0zetald0.1000

»ooooo

for i=1:size(omega_n,2)

T(i,:)=sqrt (((1+(2*zeta*omega/omega_n(i))."2)...

./ ((1-(omega/omega_n(i)) . 2) . 2+(2*zeta*omega/omega_n(i))."2)));
end

»oooooooooovr.30
clf,semilogx(omega,T(1,:),'-"',omega,T(2,:),"':",...
omega,T(3,:),'-."',omega,T(4,:),'--"),grid, ...
xlabel('Frequency \omega [rad/s]'),ylabel('Transmissibility')
legend('\omega_n=0.25 [rad/s]','\omega_n=0.5 [rad/s]',...
'\omega_n=1 [rad/s]','\omega_n=2 [rad/s]')

%omega_ n[1 00 0zetal DO OOODOOOOOOODODO
clear},0000000DOOO

»O0D0O000D0107°{-130010"1 [rad/s]O0O0O0O0OODOODOO2000000O
omega=logspace(-1,1,200);

omega_n=1;%0 0 0 0 omega_n=1 [rad/s]O 00

zeta=[0.1 0.25 0.5 11;%000

»ooooo

for i=1:size(zeta,2)
T(1,:)=sqrt(((1+(2xzeta(i)*omega/omega_n)."2)).~(1/2)...

./ (((1-(omega/omega_n) ."2) . 2+(2xzeta (i) *omega/omega_n)."2)));
end

yooooooooooor.40d

figure;

semilogx (omega/omega_n,T(1,:),'-"',omega/omega_n,T(2,:),"':"',...
omega/omega_n,T(3,:),'-."',omega/omega_n,T(4,:),'--"),grid,...
xlabel('\omega/\omega_n'),ylabel('Transmissibility')
legend('\zeta=0.1"', '\zeta=0.25", '\zeta=0.5"', '\zeta=1")

|m-file ex71.m

»007.1

»oOoooooooo

clear

format short e

»Oo0000O0D10°{-23¥0010"2 [rad/s]O0O0O0OOCODOOOO2000000O



omega=logspace(-2,2,200) ;

»Mooobooo
m=1;

d=0.5;

k=10;

#007.1(1)
omega_n=sqrt(10),000000000O0
zeta=d/ (2*sqrt (m*k)) %000

»ooTe000
Tf=sqrt (((1+(2*zeta*omega/omega_n)."2) ...
./ ((1-(omega/omega_n) .~ 2) . 2+(2*zeta*omega/omega_n) ."2)));

%omega_n'=2 [rad/s], zeta=0.70000k', d'
omega_np=2;
zetap=0.7;

kp=omega_np~2*m
dp=2*sqrt (mxkp) *zetap

%omega_n=omega_np, zeta=zetapU U O OO0ODOOOTEOOODO
Tf_m=sqrt (((1+(2*zetap*omega/omega_np) . 2) ...
./ ((1-(omega/omega_np) . "2) . "2+(2xzetap*omega/omega_np) . "2))) ;

»o0oooooooooooooomaovr.sd
clf,semilogx(omega,Tf,'-"',omega,Tf _m,'--"'),grid,...
xlabel('Frequency \omega [rad/s]'),ylabel('Transmissibility')
legend('Tf (\omega_n=10"{1/2},\zeta=1/(4*10"{1/2}))"'...
,'Tf\prime (\omega_n\prime=2, \zeta"\prime=0.7 )')

|m-file s733.m

%7.3.30 ODOOOODODOOO
»OoOo0oooDooooooodooOooooboooesOOoooOoOoOoQ
»oooooo

clear

format short e

»0o00o0bo0107{-130010"1 [rad/s]00 0000000 0O0O2000000
omega=logspace(-1,1,200) ;

omega_n=1;%0 0 0 0 omega_n=1 [rad/s]O 00

zeta=0.1 4000000000

»0000000000000000000000000 zetas=Gs/(2(mk)~0.5)0
zetas=[0.1 0.25 0.5 1];

»nwooooo

for i=1:size(zetas,2)

T(i,:)=sqrt(((1+(2*zeta*omega/omega_n)."2))...

./ (((1-(omega/omega_n) . 2) . 2+(2x(zetat+zetas (i) )*omega/omega_n)."2)));
end

»O0000ooooooovr.90
clf,semilogx (omega/omega_n,T(1,:),'-',omega/omega_n,T(2,:),"':"',...



omega/omega_n,T(3,:),'-.',omega/omega_n,T(4,:),'--"),grid, ...
xlabel('\omega/\omega_n'),ylabel('Transmissibility"')
legend('\zeta_s=0.1",'\zeta_s=0.25"','\zeta_s=0.5"','\zeta_s=1")

|m-file ex72.m

»nagr.2
»oooooood
»0o0oo0oo0o00ooooooooooooooooOoooD

clear

format short e

»woooooo

=1;d=4;k=100

omega_n=sqrt(k/m);%0 00000000

zeta=d/(2xsqrt(mxk)) 4000000000
»0o00bo0107{-130010"1 [rad/s]100 0000000002000 000
omega=logspace(-1,1,200)*omega_n;

%0 0 wd(t)=Q0 sin(omega_d t) [m]
Q0=0.1

omega_d=12;

%homega=omega_d 0 0 0 0O O O Tdmax
Tdmax=0.5

»000000zeta_sO00O0O
zeta_s=1/2*(omega_n/omega_d)*. ..

sqrt( (1+(2*zeta*omega_d/omega_n) "2)/(Tdmax~2) - (1- (omega_d/omega_n)~2)°2)...

-zeta

00000000000 000OGs
Gs=zeta_s*2*sqrt( m*k )

»0000000000Oo0od
To=sqrt (((1+(2*zeta*xomega/omega_n) . 2)) ...
./ (((1-(omega/omega_n) . 2) .~ 2+(2*zeta*omega/omega_n) ."2))) ;

»Woooooooooooo
Tc=sqrt (((1+(2*zeta*omega/omega_n)."2)) ...
./ (((1-(omega/omega_n) ."2) . 2+(2*(zetatzeta_s) *omega/omega_n) . 2)));

»oooooooooovr.100

clf ,semilogx (omega/omega_n,Tc,'-',omega/omega_n,To,'--"'),grid,...
xlabel('\omega/\omega_n'),ylabel('Transmissibility"')
legend('With sky-hook control','Without control')
line([min(omega/omega_n) omega_d/omega_n],[0.5 0.5])
line([omega_d/omega_n omega_d/omega_n], [0 0.5])

%homega = omega_ dJ 0000 OTOOOO
Td=sqrt (((1+(2*zeta*omega_d/omega_n)."2)) ...
./ (((1-(omega_d/omega_n) ."2) . 2+ (2% (zeta+zeta_s) *omega_d/omega_n) .~ 2)))

%homega=omega_d0J 0 0 00O
Af=Gs*Td*QO*omega_d



’ m-file ex74.m

»O007.4
»yoooooooooooooooooooooOoao
clear;

format short e

%000 ODelta_t
Delta_t=0.01;
»OOo0o0oDoo0OO0oOoOo0o0ozts
t£=20;
»OoOooooooao
t=0:Delta_t:tf;

%0000 0xp(1)0000xp(2)0000
xp(:,1)=[0 0]';
»Ooo00Oooooooocep

Cp=[1 0];

for i=1:length(t)

%00 0xpdotO 00O

pl=caldxex74(xp(:,1),1);%0 0000 O0u(t)=1
p2=caldxex74(xp(:,i)+Delta_t/2*pl,1);
p3=caldxex74(xp(:,i)+Delta_t/2xp2,1);
p4=caldxex74(xp(:,i)+Delta_t*p3,1);
xpdot=Delta_t*(pl+2*p2+2*p3+p4)/6;
xp(:,i+1)=xp(:,i)+xpdot;
x(:,1)=Cp*xp(:,i);%Runge-KuttaD 00O OO O0OOOOODO
end

»ooooooo
m=1;zeta=0.3;omega_n=1;

»o 00
omega_d=sqrt(l-zeta~2)*omega_n;

xa=1/omega_n"2x( 1-exp(-zeta*omega_n*t).*(cos(omega_d*t)...

+zeta/sqrt(1-zeta”2)*sin(omega_d*t)) );

W oooooooooooooor.140

clf,plot(t,x,t,xa,'--"'),xlabel('t [s]'),ylabel('x');
legend('Numerical solution', 'Analytical solution');
grid;

’ m-file caldxex74.m

function xpdot=caldxex74(xp,u)
%ex74.m0 000 functionO OO0

wooooooo

m=1;zeta=0.3;omega_n=1;

%0000 0xpdot=Ap xp+Bp u0 0000
Ap=[0 1;

-omega_n"2 -2*zeta*omega_n] ;
Bp=[0 1/m]"';

%xpdot
xpdot=Ap*xp+Bp*u;



m-file p74.m

clear;

format short e

»Ooooaov7.4

JRunge-KuttaO OO OO OOOOOOCOOODOO

%0 0 0 0Delta_t
Delta_t=0.01;
»OOOoOoOoDoDoOOoOoOo0o0oztf
tf=10;
»Ooooooooao
t=0:Delta_t:tf;

»OO0000xHOOOOx(OoOOoOoda
x1(:,1)=[pi/4 0]'; 0000000
xnl(:,1)=x1(:,1); %0000

»oooooooggdcep
Cp=[1 0];

for i=1:length(t)

»00000000=xdet0 OO

pl=caldxlp74(x1(:,i),0);%0 00000000 0u(t)=0
p2=caldx1lp74(x1(:,i)+Delta_t/2*p1,0);

p3=caldxlp74(x1(:,i)+Delta_t/2*p2,0);

p4=caldxlp74(x1(:,i)+Delta_t*p3,0);

xdotl=Delta_t* (pl+2*p2+2xp3+p4)/6;

x1(:,i+1)=x1(:,i)+xdotl;

thetal(:,i)=Cp*x1(:,1i);%Runge-Kuttad 0 00000000000 DOOOOOOOCOO

#00000=xdotd OO

ql=caldxnlp74(xnl(:,1),0);40 00000000 0u(t)=0
g2=caldxnlp74(xnl(:,i)+Delta_t/2*ql,0);
g3=caldxnlp74(xnl(:,i)+Delta_t/2%q2,0);
g4=caldxnlp74(xnl(:,i)+Delta_t*q3,0);
xdotnl=Delta_t*(ql+2*q2+2*q3+q4)/6;

xnl(:,i+1)=xnl(:,i)+xdotnl;

thetanl(:,i)=Cp*xnl(:,i);%Runge-KuttaD O OO O0OOOO0O0OOO0OOOOOO
end

x»00000000000000007a, 8a0
clf,plot(t,thetal,t,thetanl,'--'),xlabel('t [s]'),...
ylabel('\theta [rad]');

legend('Linearized system', 'Nonlinear system');

grid;

grid;

m-file caldx1lp74.m

function xpdot=caldxlp74(xp,u)
%p74.m00 0000 functiond O OO
»ooooooo

1=1;

g=9.8;



#00000=xdot=Ax+Bu0 00 00O
Ap=[0 1;

-g/1 0];
Bp=[0 0]';

%xpdot
xpdot=Ap*xp+Bp*u;

m-file caldxnlp74.m

function xpdot=caldxnlp74(xp,u)
%p74.m00 0000 functionO OO 0O
»ooooooo

1=1;

g=9.8;

»Looooooooo
xpdot=[xp(2,:) -g/l*sin(xp(1))]"'



